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Choose the correct article .

Himalayas is ...... highest mountain of our country.

(2) a () an :
(3) the -~ () None of the above
Please give me ...... one rupee coin.

(2) a e () an

(3) the ; (¥) None of the above
Choose the correct spelling in the following two questions.
(2) Communication * (R) Communeecation
3) Comuuﬁication (¥) Comuniccation

(%) ambbasador () ambaasador (3) ammbasador  (¥) ambassador

Select the synonym of the word - Ecstasy -

(2) exhausted (R) strong (3) joy (¥) greed

Select the synonym of the word - Gluttony

(2) satisfaction  (R) beatitude (3) sadness (¥) Greedy

Select the antonym of the word - Extrovert

(%) boaster (R) mixer (3) introvert (¥) social

Select the antonym of the word - Extravagant | :

(2) developing  (R) wonderful (3) disappearing  (¥) economical
Choose appropriate modal auxiliary : Wher I was younger,I ...... swim ten miles.
()can - . (R)might (3)would (¥) could |
Clioose correct preposition : I have been working here ......1990, |

(%) for (R) since . (3) now © (¥)in

Choose correct pronoun : Rosemary is a cousin of ...... | ,
(%) myself (R) mine (3) me (¥) my

Choose correct preposition : We don't need the car, we’llgo ...... _

(2) by foot . (R) on foot

(3) with foot . : (¥)None of the above..

Choose correct auxiliary verb : When I saw John last Sunday, he was tired, he
...... ‘a party the night before.

(2) was to (?) has been to

(3) had been to - (¥) None of the above.
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Select a word that is not adjective -

(2) incisive (R) fratricidal (3) abscond (¥) strident

The sentence 'I shall come even if he doesn't contains' adverb clause of-

(2) comparison  (R) condition (3) consequence  (¥) None of these
'He is intelligent, yet he is not confident' is an exampleof ...... compound s'_entence;
(%) Copulative ~ (R) Adversative  (3) Disjunctive (¥) None of these
Identify the figure of speech - Life is a dream.

(%) Simile (R) Metaphor (3) Apostrophe (¥) Hyperbole
The meaning of the idiom to 'talk shop' means .

(%) discuss shops (R) to talk unnecessarily

() to talk about profession (¥) None of the above

A Gerund can work as a |

(2) Noun : () Pronoun

(3) Adjective (¥) None of the above.

Select a word that is not an interjection - |

(%) Alas () Oh |

(3) Hello (¥) None of the above.

To trump up means - '_ . :

(%) To transform () To trek

(3) To concoct (¥) None of the above.

Fillin the blanks - ...... Bengalis write Gujarati correctly.

(%) Few = (R) Afew:

(3) The few ~ (¥) None of the above.

Fill in the blanks - You and ...... have done our duty.

(%) me (1

(3) mine (¥) None of the above.

Which of the following words is not relﬁted to human body? _

(2) Visceral (?) Supine * (3) Sanguinary (¥) Coeval
Ophidiomania is the excessive interest in -

(2) Snakes ' () Monkeys

(3) Buildings _ : (¥) None of the above.
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